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#@E15cm, #4
Jh8 120cm % 50cm x 200cm m 16.0
#@E15cm, #4
120cm x 50cm x 300cm m 18.0
#@HE15cm, #4

120cm x 50cm x 400cm m 4.0
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NO. 0
NO. 1 7.70 1.4
NO. 2 1. 30 5.7 3.55 4.6 1.3 0.65 0.8
NO. 3 2.00 7.0 6.35 12.7 1.1 1.20 2.4
NO. 4 8.00 0.3 3.65 29.2 0.0 0.55 4.4
NO.5 3.00 0.2 0.25 0.8 0.9 0.45 1.4
NO. 6 1. 50 0.0 0.10 0.2 0.1 0.50 0.8
m m3 m3
b 23.50 47.5 9.8
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7 b f@E15em, #4 120enx50emx300cm - @) N= 24K L=3.0mx 24K = 6.0n
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7 k% @E1Sen, #4 120omx50cmx 200cm - 2

7 k% @E1Sen. #4 120omx50cmx 300cn - )

7 2% BB 15en, #4 1200mx 500nx 4000m - @

N2k L=2.0nx 14k = 2.0m

N= 48 1=3.0mx 44k = 12.0n

Ne 18 L=4.0nx 14 = 4.0m
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B 120cm x 50cm x 200cm  [2. Omx  (7#%+1#0) m 16.0
120cm x 50cm x 300cm  [3. Omx  (2#%+4%0) m 18.0
120cm x 50cm x 400cm  [4. Om % 13 m 4.0




